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SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
THt2tel ot 15,241,590 14,900,000 341,590
THoH & XH HOil & 10,241,590 10,900,000 A 658,410
St F2g 2l (st FA2I22]) 10,241,590 10,900, 000 A 658,410
StESMHE 2 10,241,590 10,900, 000 A 658,410
201 LEt2A | 343,604 315,104 28,500
01 AtR 22l | 305,564 280,064 25,500
Oger==EH| 301,004 275,504 25,500
—AEINE NYE =3 71,000 54,000 17,000
—=MItE W& 11,000 2,500 8,500
02 3324l 38,040 35,040 3,000
O3 & HA 34,440 31,440 3,000
—dIIReRa 15,000 12,000 3,000
203 @R =&l 4,000 3,000 1,000
03 AIMZ=XH 2= H| 4,000 3,000 1,000
O=MORET2H RF 4,000 3,000 1,000
308 XXM SO A 35,000 0 35,000
05 X SHHAES S 35,000 0 35,000
O&FE= MZNtE XE 35,000 0 35,000
401 AIEHIZL 2 CHEI 3,505,402 3,149,272 356,130
01 A€ HI 3,502,402 3,146,272 356, 130
O Al &l 3,502,402 3,146,272 356,130
— SR ALEFTLI 30,000 0 30,000
—AEHE(HE-Q4)TE 176,130 0 176,130
—SHEHHEIZEZ OlAZE TM 2T 50,000 0 50,000
—LEHEHT BFUHAEEX 100,000 0 100,000
405 tatH S| 5,800 4,700 1,100
01 AL ESFH S 5,800 4,700 1,100
O=MEMHE 28 =257 5,800 4,700 1,100
—Nga=J 2Y 500 0 500
—Z2HI 7Y 600 0 600
801 0ilHI 8l 5,183,749 6,263,889 A 1,080, 140
01 oilBl bl 5,183,749 6,263,889 A 1,080, 140
Oolldl bl 5,183,749 6,263,889 A 1,080, 140
HRES(M2el ) 5,000,000 4,000,000 1,000,000
HWEHAXS(SHESHHF2Z 22l) 5,000,000 4,000,000 1,000,000
LS AHHXI & (XA 5,000,000 4,000,000 1,000,000
701 JIEtEI HE &= 5,000,000 4,000,000 1,000,000
01 JIEteI HE =2 5,000,000 4,000,000 1,000,000
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